Specification Responses			RE PRODUCTS LLC	US Standard Sign (Mandel Metals Inc)		Osburn Signs (Osburn Associates, Inc.)		Newman Signs Inc		Vulcan Aluminum, Vulcan Si	gns (Vulcan Inc.)	Centerline Supply		Fastenal Company		n Assign (Tahir Diwan)	
Line 1	Description Left Turn Signal	Mfgr MfgNo UOM QTY Uni	t Extended	Unit	xtended	Unit \$29.85	Extended \$29.85	Jnit \$35.75	Extended \$35.75	Unit \$30.45	Extended \$30.45	Unit \$56.25	Extended \$56.25	Unit \$65.02	Extended Un \$65.02	it \$155.52	\$155.52
2	Right Turn Signal	EA 1				\$29.85	\$29.85	\$35.75	\$35.75	\$30.45	\$30.45	\$56.25	\$56.25	\$65.02	\$65.02	\$155.52	\$155.52
3	NO TURN ON RED SYMBOL	EA 1				\$19.90	\$19.90	\$23.83	\$23.83	\$20.30	\$20.30	\$37.50	\$37.50	\$43.36	\$43,36	\$103.68	\$103.68
4	No Turn on Red	EA 1				\$29.85	\$29.85	\$35.75	\$35.75	\$30.45	\$30.45	\$56.25	\$56.25	\$65.02	\$65.02	\$155.52	\$155.52
5	LEFT TURN SIGNAL YIELD ON GREEN	EA 1				\$29.85	\$29.85	\$35.75	\$35.75	\$31.20	\$31.20	\$56.25	\$56.25	\$66.63	\$66.63	\$155.52	\$155.52
6	Emergency Signal	EA 1				\$34.83	\$34.83	\$49.84	\$49.84	\$35.53	\$35.53	\$65.65	\$65.65	\$75.87	\$75.87	\$181.44	\$181.44
7	LEFT TURN SIGNAL YIELD WHEN FLASHING	EA 1				\$23.88	\$23.88	\$28.60	\$28.60	\$24.36	\$24.36	\$45.00	\$45.00	\$52.02	\$52.02	\$124.42	\$124.42
,	WHEN PLASHING	EA I				\$23.00	\$23.00	\$20.00	\$20.00	\$24.30	\$24.30	\$45.00	\$45.00	\$52.02	\$52.02	\$124.42	\$124.42
8	Turning Vehicles Yield to Peds	EA 1 EA 1				\$24.88	\$24.88	\$35.60	\$35.60	\$26.31 \$3.28	\$26.31	\$46.88	\$46.88	\$56.17	\$56.17	\$129.60	\$129.60
9	Cross on Walk Signal Only PUSH BUTTON FOR GREEN	EA 1				\$2.99	\$2.99	\$4.27	\$4.27	\$3.28	\$3.28	\$12.50	\$12.50	\$7.02	\$7.02	\$15.55	\$15.55
10	LIGHT/SIGNAL	EA 1				\$3.73	\$3.73	\$5.34	\$5.34	\$4.24	\$4.24	\$12.50	\$12.50	\$9.05	\$9.05	\$19.44	\$19.44
11	To Cross Street Push Button Wait For Green Light	EA 1				\$3.73	\$3.73	\$5.34	\$5.34	\$4.24	\$4.24	\$12.50	\$12.50	\$9.05	\$9.05	\$19.44	\$19.44
	PEDESTRIAN CROSSING									·	·	,			•••		
12	DIRECTIONS (GRAPHIC)	EA 1				\$2.99	\$2.99	\$4.27	\$4.27	\$4.07	\$4.07	\$12.50	\$12.50	\$8.68	\$8.68	\$15.55	\$15.55
13	DIRECTIONS (WORDS)	EA 1				\$2.99	\$2.99	\$4.27	\$4.27	\$4.07	\$4.07	\$12.50	\$12.50	\$10.27	\$10.27	\$15.55	\$15.55
14	Pedestrian Signal Information (Countdown)	EA 50				\$3.73	\$186.50	\$5.34	\$267.00	\$4.80	\$240.00	\$12.50	\$625.00	\$8.68	\$434.00	\$19.44	\$972.00
14		EA 30				\$3.73		\$5.54	\$207.00		\$240.00	\$12.50		\$0.00	\$434.00	\$19.44	
15	Push Button For Walk Signal	EA 1				\$2.99	\$2.99	\$4.27	\$4.27	\$4.07	\$4.07	\$12.50	\$12.50	\$8.68	\$8.68	\$15.55	\$15.55
16	PEDESTRIAN CROSSING DIRECTIONS	EA 1				\$2.99	\$2.99	\$4.27	\$4.27	\$4.07	\$4.07	\$12.50	\$12.50	\$8.68	\$8.68	\$15.55	\$15.55
	PUSH BUTTON FOR (PED																
17	GRAPHIC) Push Button For (pedestrian	EA 1				\$2.99	\$2.99	\$4.27	\$4.27	\$4.07	\$4.07	\$12.50	\$12.50	\$8.68	\$8.68	\$15.55	\$15.55
18	symbol)	EA 1				\$2.99	\$2.99	\$4.27	\$4.27	\$4.07	\$4.07	\$12.50	\$12.50	\$65.02	\$65.02	\$15.55	\$15.55
19	LEFT ON GREEN ARROW ONLY	FA 1				\$29.85	\$29.85	\$35.75	\$35.75	\$30.45	\$30.45	\$56.25	\$56.25	\$51.99	\$51.99	\$155.52	\$155.52
20	Stop Here on Red	EA 5				\$23.88	\$119.40	\$28.60	\$143.00	\$24.36	\$121.80	\$45.00	\$225.00	\$43.36	\$216.80	\$124.42	\$622.10
21	Stop Here on Red	EA 5				\$19.90	\$99.50	\$23.83	\$119.15	\$20.30	\$101.50	\$37.50	\$187.50	\$43.36	\$216.80	\$103.68	\$518.40
22	DO NOT BLOCK DRIVEWAY	EA 5				\$19.90	\$99.50	\$28.48	\$142.40	\$20.30	\$101.50	\$37.50	\$187.50	\$43.36	\$216.80	\$103.68	\$518.40
00	DO NOT BLOCK	FA 5				\$19.90	***	\$28.48	\$142.40	****	*404.50	\$37.50	\$187.50	***	****	*400.00	\$518.40
23 24	INTERSECTION Use Lane With Green Arrow	EA 5 EA 1				\$19.90 \$41.79	\$99.50 \$41.79	\$28.48 \$59.81	\$142.40 \$59.81	\$20.30 \$42.63	\$101.50 \$42.63	\$37.50 \$78.75	\$78.75	\$43.36 \$96.10	\$216.80 \$96.10	\$103.68 \$217.73	\$217.73
25	24 in. STOP	EA 1				\$15.92	\$15.92	\$19.07	\$19.07	\$16.09	\$16.09	\$30.00	\$30.00	\$34.36	\$34.36	\$82.84	\$82.84
26 27	36 in. STOP 30 in. STOP	EA 200 EA 200				\$35.82 \$22.00	\$7,164.00 \$4,400.00	\$42.90 \$29.79	\$8,580.00 \$5,958.00	\$35.19 \$24.23	\$7,038.00 \$4,846.00	\$58.50 \$37.50	\$11,700.00 \$7,500.00	\$76.68 \$51.76	\$15,336.00 \$10,352.00	\$182.62 \$129.60	\$36,524.00 \$25,920.00
28	Keep Off Median	EA 1				\$19.90	\$19.90	\$28.48	\$28.48	\$20.30	\$20.30	\$37.50	\$37.50	\$43.22	\$43.22	\$103.68	\$103.68
29 30	Road Closed Road Closed To Thru Traffic	EA 10 EA 10				\$39.80 \$49.75	\$398.00 \$497.50	\$47.66 \$59.58	\$476.60 \$595.80	\$40.60 \$50.75	\$406.00 \$507.50	\$75.00 \$93.75	\$750.00 \$937.50	\$86.70 \$108.36	\$867.00 \$1.083.60	\$207.36 \$259.20	\$2,073.60 \$2,592.00
31	36 in. YIELD	EA 20				\$27.86	\$557.20	\$42.90	\$858.00	\$19.34	\$386.80	\$67.50	\$1,350.00	\$41.30	\$826.00	\$182.62	\$3,652.40
32 33	24 in. YIELD To Ramp	EA 20 EA 1				\$14.93 \$8.71	\$298.60 \$8.71	\$29.79 \$10.43	\$595.80 \$10.43	\$13.21 \$9.60	\$264.20 \$9.60	\$43.75 \$16.40	\$875.00 \$16.40	\$28.22 \$20.52	\$564.40 \$20.52	\$129.60 \$45.36	\$2,592.00 \$45.36
34	ALL WAYPLAQUE	EA 200				\$2.99	\$598.00	\$3.57	\$714.00	\$3.37	\$674.00	\$9.50	\$1,900.00	\$7.20	\$1,440.00	\$15.55	\$3,110.00
35 36	Truck Route Railroad Crossing X	EA 10 EA 5				\$11.94 \$23.88	\$119.40 \$119.40	\$14.30 \$14.30	\$143.00 \$71.50	\$12.18 \$56.16	\$121.80 \$280.80	\$22.50 \$75.00	\$225.00 \$375.00	\$26.00 \$119.93	\$260.00 \$599.65	\$62.21 \$62.21	\$622.10 \$311.05
37	10 MPH SPEED LIMIT	EA 30				\$19.90	\$597.00	\$23.83	\$714.90	\$20.30	\$609.00	\$35.00	\$1,050.00	\$43.36	\$1,300.80	\$103.68	\$3,110,40
38 39	20 MPH SPEED LIMIT 30 MPH SPEED LIMIT	EA 1 EA 50				\$19.90 \$19.90	\$19.90 \$995.00	\$23.83 \$23.83	\$23.83 \$1,191.50	\$20.30	\$20.30 \$1,015.00	\$35.00 \$35.00	\$35.00 \$1,750.00	\$43.36 \$43.36	\$43.36 \$2,168.00	\$103.68 \$103.68	\$103.68 \$5,184.00
40	35 MPH SPEED LIMIT	EA 10				\$19.90	\$199.00	\$23.83	\$238.30	\$20.30	\$203.00	\$35.00	\$350.00	\$43.36	\$433.60	\$103.68	\$1,036.80
41 42	40 MPH SPEED LIMIT 45 MPH SPEED LIMIT	EA 20 EA 20				\$29.85 \$29.85	\$597.00 \$597.00	\$35.75 \$35.75	\$715.00 \$715.00	\$30.45 \$30.45	\$609.00 \$609.00	\$35.00 \$35.00	\$700.00 \$700.00	\$68.62 \$68.62	\$1,372.40 \$1,372.40	\$155.52 \$155.52	\$3,110.40 \$3,110.40
43	50 MPH SPEED LIMIT	EA 5				\$29.85	\$149.25	\$35.75	\$178.75	\$30.45	\$152.25	\$35.00	\$175.00	\$68.62	\$343.10	\$155.52	\$777.60
44 45	Bike Lane Ahead Plaque	EA 1 EA 1				\$19.90 \$9.95	\$19.90 \$9.95	\$23.83 \$11.92	\$23.83 \$11.92	\$20.30 \$10.53	\$20.30 \$10.53	\$37.50 \$18.75	\$37.50 \$18.75	\$43.36 \$22.47	\$43.36 \$22.47	\$103.68 \$51.84	\$103.68 \$51.84
46	Ends Plaque	EA 1				\$9.95	\$9.95	\$11.92	\$11.92	\$10.53	\$10.53	\$18.75	\$18.75	\$22.47	\$22.47	\$51.84	\$51.84
47 48	NO LEFT/RIGHT U TURN NO LEFT/RIGHT U TURN	EA 50 EA 50				\$15.92 \$24.88	\$796.00 \$1,244.00	\$19.07 \$29.79	\$953.50 \$1,489.50	\$16.64	\$832.00 \$1,300.00	\$30.00 \$46.88	\$1,500.00 \$2,344.00	\$35.54 \$55.53	\$1,777.00 \$2,776.50	\$82.94 \$129.60	\$4,147.00 \$6,480.00
49	NO LEFT/RIGHT U TURN	EA 50				\$35.82	\$1,791.00	\$42.90	\$2,145.00	\$37.44	\$1,872.00	\$67.50	\$3,375.00	\$79.94	\$3,997.00	\$182.62	\$9,131.00
50	LEFT or RIGHT ONLY ARROW	EA 20				\$29.85	\$597.00	\$35.75	\$715.00	\$30.45	\$609.00	\$56.25	** *** ***	\$65.02	\$1,300,40		
50	Left Turn Allowed from Thru	EA 20				\$29.85	\$597.00	\$35.75	\$/15.00	\$30.45	\$609.00	\$56.25	\$1,125.00	\$65.02	\$1,300.40	\$155.52	\$3,110.40
51	Lane	EA 5				\$29.85	\$149.25	\$35.75	\$178.75	\$30.45	\$152.25	\$56.25	\$281.25	\$65.02	\$325.10	\$155.52	\$777.60
52	Right Turn Allowed from Thru Lane	EA 5				\$29.85	\$149.25	\$35.75	\$178.75	\$30.45	\$152.25	\$56.25	\$281,25	\$65.02	\$325.10	\$155.52	\$777.60
53	STRAIGHT ONLY ARROW	EA 1				\$29.85	\$29.85	\$35.75	\$35.75	\$30.45	\$30.45	\$56.25	\$56.25	\$65.02	\$65.02	\$155.52	\$155.52
54	LEFT LANE MUST TURN LEFT	EA 5				\$24.88	\$124.40	\$29.79	\$148.95	\$25.38	\$126.90	\$46.88	\$234.40	\$54.21	\$271.05	\$129.60	\$648.00
	RIGHT LANE MUST TURN																
55	RIGHT	EA 5				\$24.88	\$124.40	\$29.79	\$148.95	\$25.38	\$126.90	\$46.88	\$234.40	\$54.21	\$271.05	\$129.60	\$648.00
56	LD: LLMTL/ RT LN LT OR THRU SYMBOL	EA 20				\$29.85	\$597.00	\$35.75	\$715.00	\$30.45	\$609.00	\$56.25	\$1,125.00	\$65.02	\$1,300.40	\$155.52	\$3,110.40
	LD: LLMTL/ CL RT OR THRU						• • • • • • • • • • • • • • • • • • • •						.,				,
57	SYMBOL/ RTMTR LD: LLMTL/ CL THRU	EA 20				\$29.85	\$597.00	\$35.75	\$715.00	\$30.45	\$609.00	\$56.25	\$1,125.00	\$65.02	\$1,300.40	\$155.52	\$3,110.40
58	SYMBOL/RTMTR	EA 20				\$29.85	\$597.00	\$35.75	\$715.00	\$30.45	\$609.00	\$56.25	\$1,125.00	\$65.02	\$1,300.40	\$155.52	\$3,110.40
59	Two Way Left Turn Only Center Lane Two Way Left	EA 1				\$29.85	\$29.85	\$35.75	\$35.75	\$30.45	\$30.45	\$56.25	\$56.25	\$65.02	\$65.02	\$155.52	\$155.52
60	Turn Only	EA 1				\$23.88	\$23.88	\$28.60	\$28.60	\$24.36	\$24.36	\$45.00	\$45.00	\$52.02	\$52.02	\$124.42	\$124.42
61 62	Do Not Pass Pass With Care	EA 5 EA 1				\$19.90 \$19.90	\$99.50 \$19.90	\$23.83 \$23.83	\$119.15 \$23.83	\$20.30 \$20.30	\$101.50 \$20.30	\$37.50 \$37.50	\$187.50 \$37.50	\$43.36 \$43.36	\$216.80 \$43.36	\$103.68 \$103.68	\$518.40 \$103.68
63	KEEP RIGHT SYMBOL	EA 20				\$19.90	\$398.00	\$23.83	\$476.60	\$20.30	\$406.00	\$37.50	\$750.00	\$43.36	\$867.20	\$103.68	\$2,073.60
64 65	Keep Right/Arrow	EA 5				\$19.90 \$19.90	\$99.50 \$99.50	\$23.83 \$23.83	\$119.15	\$20.30 \$20.30	\$101.50 \$101.50	\$37.50 \$37.50	\$187.50 \$187.50	\$43.36 \$43.36	\$216.80 \$216.80	\$103.68 \$103.68	\$518.40 \$518.40
65 66	Keep Right/Up Arrow KEEP LEFT SYMBOL	EA 5 EA 5				\$19.90 \$19.90	\$99.50 \$99.50	\$23.83 \$23.83	\$119.15 \$119.15	\$20.30 \$20.30	\$101.50 \$101.50	\$37.50 \$37.50	\$187.50 \$187.50	\$43.36 \$43.36	\$216.80 \$216.80	\$103.68 \$103.68	\$518.40 \$518.40
67	Keep Left	EA 1				\$19.90	\$19.90	\$23.83	\$23.83	\$20.30	\$20.30	\$37.50	\$37.50	\$43.36	\$43.36	\$103.68	\$103.68
68 69	Keep Left DO NOT ENTER	EA 1 EA 20				\$19.90 \$24.88	\$19.90 \$497.60	\$23.83 \$29.79	\$23.83 \$595.80	\$20.30 \$26.00	\$20.30 \$520.00	\$37.50 \$46.88	\$37.50 \$937.60	\$43.36 \$55.53	\$43.36 \$1,110.60	\$103.68 \$129.60	\$103.68 \$2,592.00
	Pedestrians Bicycles Motor-																
70	Driven Cycles Prohibited Pedestrians and Bicycles	EA 1				\$29.85	\$29.85	\$42.72	\$42.72	\$30.45	\$30.45	\$56.25	\$56.25	\$65.02	\$65.02	\$155.52	\$155.52
71	Prohibited	EA 1				\$14.93	\$14.93	\$17.87	\$17.87	\$15.23	\$15.23	\$28.15	\$28.15	\$32.51	\$32.51	\$77.76	\$77.76
72	Pedestrians Prohibited	EA 1				\$7.96	\$7.96	\$11.39	\$11.39	\$8.78	\$8.78	\$15.00	\$15.00	\$18.75	\$18.75	\$41.47	\$41.47

	Bid Request Number	21-21FP Addendum 1															
Martine Mart	Specification Responses Line	Description	Mfar MfaNo UOM	QTY Unit	US Standard Sign (Mandel Metals Inc) Unit Extended	Osburn Signs (Osburn Associates, Inc.)	Extended	Newman Signs Inc	Extended			Centerline Supply Unit	Extended	Fastenal Company Unit	Extended	Sign Assign (Tahir Diwan) Unit	Extended
Second	73	Authorized Vehicles Only	EA	10		\$19.90	\$199.00	\$23.83	\$238.30	\$20.30	\$203.00		\$375.00		\$433.60		
Column		Wrong Way	EA	10						\$25.36	\$253.60			\$51.99			
		Wrong Way Ramp	EΑ	5		\$34.83 \$23.88			\$208.50 \$143.00		\$177.65 \$121.80	\$65.62 \$45.00		\$75.87 \$51.99			
Color Colo	77		EA	10		\$35.82			\$429.00		\$374.40	\$67.50		\$79.94	\$799.40		\$1,866.20
Machine Mach	78		EA														\$829.40
Martin M	79																
10 10 10 10 10 10 10 10				5													
Marche M	82			5		\$19.90	\$99.50	\$23.83	\$119.15		\$101.50		\$187.50	\$43,36	\$216.80	\$103.68	\$518.40
	83	No Bicycles symbol	EA	5		\$15.92	\$79.60	\$19.07	\$95.35	\$16.64	\$83.20	\$30.00	\$150.00	\$34.66	\$173.30	\$82.94	\$414.70
Property	84	No Bicycles symbol	EA	5		\$24.88	\$124.40	\$29.79	\$148.95	\$26.00	\$130.00	\$30.00	\$150.00	\$55.53	\$277.65	\$129.60	\$648.00
Marche M	05					****	*40.00	600.40	600.40	****	#00.00	407.50	607.50	***	640.00	*400.00	*****
	85		EA	1		\$19.90	\$19.90	\$28.48	\$28.48	\$20.30	\$20.30	\$37.50	\$37.50	\$43.36	\$43.36	\$103.68	\$103.68
Company	86		EA	1		\$19.90	\$19.90	\$23.83	\$23.83	\$20.30	\$20.30	\$37.50	\$37.50	\$43.36	\$43,36	\$103.68	\$103.68
Control of Control o	87	ONE WAY LEFT ARROW	EA	20													
Company																	
Company Comp			EA EA						\$286.00					\$26.00			\$1,244.20
Control Cont	91	ONE WAY-RIGHT	FA	20			\$238.80	\$14.30			\$406.00		\$450.00	\$43.36		\$62.21	\$2,073.60
Second Company Compa	92		EA				\$398.00		\$476.60	\$20.30	\$406.00		\$750.00		\$867.20		\$2,073.60
State Stat	93																
Marty Mart				5						\$20.30							
Column	95		EA	1		\$5.97	\$5.97	\$7.15	\$7.15	\$6.47	\$6.47	\$12.50	\$12.50	\$13.81	\$13.81	\$31.10	\$31.10
Second	96		EA	1		\$5.97	\$5.97	\$7.15	\$7.15	\$7.77	\$7.77	\$12.50	\$12.50	\$16.58	\$16.58	\$31.10	\$31.10
18	97	No Parking Bus Stop/Arrow	EA	1		\$5.97		\$7.15	\$7.15			\$12.50	\$12.50	\$16.58	\$16.58	\$31.10	\$31.10
No.	98			1													
Column C	99	[1/2] Hour Parking (times)	EA	1		\$5.97	\$5.97	\$8.54	\$8.54	\$6.47	\$6.47	\$12.50	\$12.50	\$13.81	\$13.81	\$31.10	\$31.10
Column C	100	NO PARKING (DESIGNATE)	FΔ	30		\$5.97	\$179.10	\$7.15	\$214.50	\$7.77	\$233.10	\$12.50	\$375.00	\$16.60	\$498.00	\$31.10	\$933.00
Column C	100		271	00		V 0.07	V 110.10	V	Q214.00	v	\$250.10	V.2.00	********	******	\$450.00	401.110	\$555.55
120 Common September 121 121 121 121 121 121 121 121 121 12	101		EA	30		\$5.97	\$179.10	\$8.54	\$256.20	\$10.44	\$313.20	\$12.50	\$375.00	\$22.30	\$669.00	\$31.10	\$933.00
State Stat	400			20					****		****				****		
Common C	102		EA	30		\$5.97	\$179.10	\$8.54	\$256.20	\$10.44	\$313.20	\$12.50	\$375.00	\$22.30	\$669.00	\$31.10	\$933.00
State Stat	103		FΔ	30		\$5.97	\$179.10	\$8.54	\$256.20	\$10.44	\$313.20	\$12.50	\$375.00	\$22.30	\$669.00	\$31.10	\$933.00
Company	100		271	00		V 0.07	\$175.10	\$0.04	Q200.20	V.U.1.	\$0.10.20	V.2.00	4010.00	V 22.00	\$ 000.00	40 1.110	\$500.00
Section Sect	104	Custom	EA	30		\$5.97	\$179.10	\$8.54	\$256.20	\$10.44	\$313.20	\$12.50	\$375.00	\$22.30	\$669.00	\$31.10	\$933.00
10 10 10 10 10 10 10 10		No Parking Any Time/One															
March Marc		Hour Parking		1													
90	100		EA			\$3.97	\$3.97	\$7.15	\$7.15	\$0.47	\$0.47	\$12.50	\$12.50	\$13.01	\$13.01	\$31.10	\$31.10
100	107		EA	30		\$5.97	\$179.10	\$7.15	\$214.50	\$7.77	\$233.10	\$12.50	\$375.00	\$16.58	\$497.40	\$31.10	\$933.00
REST-MONENTSCALE																	
STA	108		EA	30		\$5.97	\$179.10	\$7.15	\$214.50	\$7.77	\$233.10	\$12.50	\$375.00	\$16.58	\$497.40	\$31.10	\$933.00
PRESTABLE PRES	100			20		45.07	6470 40	67.45	604450	A	\$000.40	*40.50	6075.00	****	6407.40	****	*****
SME	109		EA	30		\$5.97	\$179.10	\$7.15	\$214.50	\$1.11	\$233.10	\$12.50	\$375.00	\$16.58	\$497.40	\$31.10	\$933.00
10 10 10 10 10 10 10 10	110	SYM <		30		\$5.97	\$179.10	\$7.15		\$7.77	\$233.10	\$12.50	\$375.00	\$16.58	\$497.40	\$31.10	\$933.00
101 No Principal Ballow	111			60						\$2.56							
11-11 No Pearlo General Busines		No Parking Bike Lane	EA	1					\$7.15	\$6.47							
115 No Person General Bases 24.0 25.0				1													
117 No Profession Construct	115																
116 Una Consensia, Marie arrown EA 5 52.05	116	No Pedestrian Crossing															
19 Use Commank Right amon EA 5 52.00 51.00 52.00 52.00 51.00 52.00 53.00	117			50		\$15.92			\$953.50	\$16.64				\$35.54	\$1,777.00		\$4,147.00
SCHOOL ADVANCE SCHOOL ADVANCE FA 30 STANDAR FLOW STAND							\$29.85		\$35.75 \$35.75		\$32.35 \$32.35	\$12.50 \$12.50					\$155.50
\$\text{\$\frac{1}{2}\text{\$\frac{1}\text{\$\frac{1}{2}\text{\$\frac{1}{2}\$\frac{1	110		LA	3		\$3.51	\$25.05	\$7.15	\$33.73	\$0.47	\$32.33	\$12.50	902.50	\$15.01	\$03.03	\$51.10	\$133.30
SYMBOL FLO FLO SALPAN	120	SYMBOL (FLG)	EA	30		\$32.81	\$984.30	\$29.79	\$893.70	\$32.84	\$985.20	\$46.88	\$1,406.40	\$70.14	\$2,104.20	\$129.60	\$3,888.00
School base De Amad EA																	
Scrool Speed Limit Applies Scrool Speed Lim				30													
	122		EA	1		\$47.25	\$47.25	\$42.90	\$42.90	\$49.23	\$49.23	\$67.50	\$67.50	\$105.12	\$105.12	\$186.62	\$186.62
SCHOOLIFIG EA 20 STATE	122		ΕΛ	20		\$9.75	\$175.00	\$7.04	\$159.90	\$0.20	\$166.00	\$12.50	\$250.00	\$17.72	\$254.60	\$24.56	\$ \$601.20
WHEN FLASHING EA 1 SA75 SA75 SA76 SA76 SA76 SA75 SA76 SA7	124		EA														
Flatfring EA 1	125	WHEN FLASHING	EA	1		\$8.75	\$8.75	\$7.94	\$7.94	\$8.39	\$8.39	\$12.50	\$12.50	\$17.90	\$17.90	\$34.56	\$34.56
ARROW PONTING 8 7 OCLOCK FLG S																	
S19.69 \$19.60 \$21.50 \$	126		EA	1		\$42.00	\$42.00	\$38.13	\$38.13	\$35.45	\$35.45	\$60.00	\$60.00	\$75.71	\$75.71	\$165.89	\$165.89
ARROW POINTING 6 7 VOLOCK (FLG) EA 10 S10.50 \$105.00 \$113.00 \$113.00 \$113.00 \$113.00 \$24.20 \$24.20 \$44.47 \$44.47 \$44.47 \$44.67 \$45.60 \$113.0	127	O'CLOCK (FLG)	Ev	10		\$10.60	\$196.90	\$21.26	\$213.60	\$20.55	\$205.50	\$28.15	\$281.50	\$43.97	\$438.70	\$77.76	\$777.60
28		ARROW POINTING @ 7				\$19.09	Ç.30.30	921.30	Q213.00	\$20.33	\$203.30	\$20.15	\$201.30	\$45.07	\$-30.70	φ11.10	
129 OCLOK (FLG)	128	O'CLOCK (FLG)	EA	10		\$10.50	\$105.00	\$11.39	\$113.90	\$11.33	\$113.30	\$15.00	\$150.00	\$24.20	\$242.00	\$41.47	\$414.70
ARROW PONTING § 5 OCLOCK (FLG) EA 10 S10.50 \$105.00 \$105.00 \$11.39 \$113.30 \$113.30 \$115.00 \$24.20 \$242.00 \$47.47 \$47.47 \$19.69 \$196.90 \$17.87 \$19.69 \$196.90 \$17.87 \$19.50 \$205.55 \$205.55 \$205.50 \$28.15 \$28.15 \$24.20 \$242.00 \$47.47 \$47.47 \$19.69 \$196.90 \$17.87 \$19.50 \$105.00 \$105.00 \$105.00 \$11.39 \$113.30 \$115.30 \$15.00 \$15.00 \$43.87 \$438.70 \$77.76 \$77.76 \$77.76 \$77.76 \$77.76 \$19.60 \$105.00 \$105.00 \$11.30 \$113.30 \$115.30 \$15.00 \$15.00 \$43.87 \$438.70 \$77.76 \$77.76 \$77.76 \$77.76 \$77.76 \$77.76 \$77.76 \$77.70 \$77.76 \$77.70 \$77.76 \$77.00 \$7			_														
130 O'CLOCK (FLG) EA 10 131 APARED PRUIS (FLG) EA 10 132 APARED PRUIS (FLG) EA 10 133 EIG STR. STR. STR. STR. STR. STR. STR. STR.	129		EA	10		\$19.69	\$196.90	\$21.36	\$213.60	\$20.55	\$205.50	\$28.15	\$281.50	\$43.87	\$438.70	\$77.76	\$777.60
131 Ahead Platus FILG) EA 10 \$19.69 \$19.69 \$17.87 \$178.70 \$20.55 \$22.55	120		EA	10		\$40.50	\$105.00	\$11.20	\$112.00	£44.00	£442.20	\$15.00	\$150.00	\$24.20	\$242.00	647 47	\$474.70
132 Ahead Plaque FLG EA 10 \$10.50 \$15.00 \$52.420 \$44.47 \$41.47 \$41.47 \$10.50 \$15.00 \$52.420 \$44.47 \$41.47	130																
133 End School Zone EA 30 \$19.90 \$597.00 \$23.83 \$714.90 \$37.20 \$11.25.00 \$13.75.0 \$11.25.00 \$13.74.40 \$10.86 \$3.71.40 \$10.86 \$10.86 \$1.86 \$2.71.40 \$10.86 \$1.20	132	Ahead Plaque (FLG)	EA	10		\$10.50	\$105.00	\$9.53	\$95.30	\$11.33	\$113.30	\$15.00	\$150.00	\$24.20	\$242.00	\$41.47	\$414.70
135 RALROAD ADVANCE EA 10 \$35.82 \$358.20 \$42.90 \$429.00 \$32.48 \$224.90 \$67.50 \$675.00 \$78.02 \$78.02 \$18.66.2 \$1	133	End School Zone							\$714.90				\$1,125.00	\$58.14	\$1,744.20	\$103.68	\$3,110.40
136 RALPOAD WARNING EA 10 \$35.82 \$358.20 \$42.90 \$429.00 \$36.54 \$355.50 \$675.00 \$78.02 \$780.20 \$186.62 \$1,866.2	134	End School Zone	EA	30			\$210.00	\$6.36	\$190.80			\$12.50	\$375.00	\$13.37			
137 RALPOAD WARNING EA 10 \$35.82 \$358.20 \$42.90 \$429.00 \$36.54 \$375.00 \$875.00 \$78.02 \$780.20 \$186.62	135		EA														
138 RALPOAD WARNING EA 10 \$35.82 \$358.20 \$42.90 \$429.00 \$36.54 \$365.40 \$57.50 \$675.00 \$780.20 \$780.20 \$18.66.2 \$780.20 \$18.60.20 \$18.60.2 \$780	137	RAILROAD WARNING	EA				\$358.20				\$365.40						\$1,866.20
140 Truck	138	RAILROAD WARNING	EA	10		\$35.82	\$358.20	\$42.90	\$429.00	\$36.54	\$365.40	\$67.50	\$675.00	\$78.02	\$780.20	\$186.62	\$1,866.20
141 Truck EA 5 \$ 335.82 \$179.10 \$42.90 \$214.50 \$35.65 \$182.70 \$373.50 \$337.50 \$337.50 \$180.2 \$333.10 \$180.62 \$333.1 \$12.00 \$180.62 \$333.1 \$12.00 \$180.62 \$333.1 \$12.00 \$180.62 \$333.1 \$12.00 \$180.62 \$18.00 \$12.00 \$18.00 \$18.00 \$12.00 \$18.00 \$18.00 \$12.00 \$18.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$12.00 \$10.00 \$	139		EA			\$24.88		\$29.79	\$297.90	\$36.54	\$365.40	\$46.88		\$78.02		\$129.60	\$1,296.00
142 Gol Cart Advance Symbol EA 20 \$24.88 \$497.60 \$23.79 \$595.00 \$325.38 \$507.60 \$46.88 \$937.60 \$54.21 \$1,004.20 \$129.00 \$25,052.00 \$25,052.00 \$25,052.00 \$25,052.00 \$305.54 \$730.80 \$675.00 \$135.00 \$780.2 \$1,004.20 \$186.62 \$3,735.42 \$1,004.20 \$198.62 \$3,735.42 \$1,004.20 \$198.62 \$3,735.42 \$1,004.20 \$198.62 \$3,735.42 \$1,004.20 \$198.62 \$1,004.20 \$104.40 \$105.40				5						\$25.38							
143 Golf Cart Advance Symbol EA 20 \$35.82 \$716.40 \$42.90 \$885.00 \$31.654 \$730.80 \$67.50 \$1.350.00 \$78.02 \$1.560.40 \$186.62 \$3.732.4 \$10 \$24.88 \$248.80 \$29.79 \$297.90 \$25.80 \$45.80 \$46.80 \$84.80 \$1.29.00 \$1.20.00 \$18.00 \$1.20.00	141		EA FA	20		\$35.82 \$24.88	\$497,60		\$595,80	\$36.54 \$25.38		\$46.88				\$186.62 \$129.60	\$933.10 \$2.592.00
145 Bicycle/Pedestrian EA 10 \$35.82 \$358.20 \$42.90 \$429.00 \$36.54 \$365.40 \$67.50 \$675.00 \$78.02 \$780.20 \$186.62 \$1.866.2	143			20					\$858.00		\$730.80						\$3,732.40
146 TRAL CROSSING SYMBOL EA 10 \$24.88 \$248.80 \$29.79 \$297.90 \$253.8 \$253.80 \$46.88 \$468.80 \$54.21 \$542.10 \$129.60 \$1,296.00 \$1.296.00 \$1	144																
147 TRAL CROSSING SYMBOL EA 10 \$35.52 \$358.20 \$42.90 \$429.00 \$36.54 \$365.40 \$67.50 \$675.00 \$78.02 \$780.20 \$186.62 \$1,866.2	145	Bicycle/Pedestrian	EA	10		\$35.82	\$358.20	\$42.90	\$429.00	\$36.54	\$365.40	\$67.50	\$675.00	\$78.02	\$780.20	\$186.62	\$1,866.20
147 TRAL CROSSING SYMBOL EA 10 \$35.52 \$358.20 \$42.90 \$429.00 \$36.54 \$365.40 \$67.50 \$675.00 \$78.02 \$780.20 \$186.62 \$1,866.2	146	TRAIL CROSSING SYMBOL	FΔ	10		\$24.88	\$248.80	\$29.79	\$297.90	\$25.38	\$253.80	\$46.88	\$468.80	\$54.21	\$542.10	\$129.60	\$1,296,00
147 TRAL CROSSING SYMBOL EA 10 \$35.82 \$35.82 \$35.82 \$429.00 \$429.00 \$36.54 \$365.40 \$67.50 \$675.00 \$78.02 \$186.62 \$1.866.2 \$1.86																	
148 TRAL XNG PLAQUE EA 10 \$119.40 \$14.30 \$143.00 \$142.180 \$22.50 \$225.00 \$26.00 \$62.21 \$622.1	147	TRAIL CROSSING SYMBOL							\$429.00	\$36.54							
	148	I RAIL XING PLAQUE	EA	10		\$11.94	\$119.40	\$14.30	\$143.00	\$12.18	\$121.80	\$22.50	\$225.00	\$26.00	\$260.00	\$62.21	\$622.10

Specification Responses		CORE PRODUCTS		US Standard Sign (Mandel Metals Inc)	Os	burn Signs (Osburn Associates, Inc.)		Newman Signs Inc		Vulcan Aluminum, Vulcan Si	gns (Vulcan Inc.)	Centerline Supply		Fastenal Company		Sign Assign (Tahir Diwan)	
Line	Description PEDESTRIAN ADVANCE	Mfgr MfgNo UOM QTY Unit	Extended	Unit	Extended Ur	it	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
149	SYMBOL	EA 20				\$24.88	\$497.60	\$29.79	\$595.80	\$25.38	\$507.60	\$46.88	\$937.60	\$54.21	\$1,084.20	\$129.6	0 \$2,592.00
150	PEDESTRIAN ADVANCE	EA 20				\$35.82	\$716.40	\$42.90	\$858.00	******	\$730.80	\$67.50	\$1,350.00	\$78.02	\$1,560,40	\$186.6	2 \$3,732,40
150 151	SYMBOL Emergency Vehicle	EA 20 EA 1				\$35.82 \$24.88	\$716.40 \$24.88	\$42.90 \$29.79	\$858.00 \$29.79	\$36.54 \$25.38	\$730.80 \$25.38	\$67.50 \$46.88	\$1,350.00 \$46.88	\$78.02 \$54.21	\$1,560.40 \$54.21	\$186.6 \$129.6	
152	Emergency Vehicle	EA 1				\$35.82	\$35.82	\$42.90	\$42.90	\$36.54	\$36.54	\$67.50	\$67.50	\$78.02	\$78.02	\$186.6	2 \$186.62
153 154	LEFT/RIGHT TURN ARROW LEFT/RIGHT TURN ARROW	EA 20 EA 20				\$24.88 \$35.82	\$497.60 \$716.40	\$29.79 \$42.90	\$595.80 \$858.00	\$25.38 \$36.54	\$507.60 \$730.80	\$46.88 \$67.50	\$937.60 \$1.350.00	\$54.21 \$78.02	\$1,084.20 \$1,560.40	\$129.6 \$186.6	
155	DOUBLE ARROW	EA 20 EA 10				\$35.82 \$24.88	\$716.40	\$42.90 \$29.79	\$297.90	\$36.54 \$25.38	\$730.80 \$253.80	\$67.50 \$46.88	\$1,350.00	\$78.02 \$54.21		\$186.6	
156	DOUBLE ARROW	EA 10				\$35.82	\$358.20	\$42.90	\$429.00		\$365.40	\$67.50	\$675.00	\$78.02		\$186.6	
157	CLEARANCE	EA 10				\$35.82	\$358.20	\$42.90	\$429.00	\$36.54	\$365.40	\$67.50	\$675.00	\$78.02	\$780.20	\$186.6	2 \$1,866.20
158	Low Clearance [00'00"] arrows	EA 10				\$35.82	\$358.20	\$51,27	\$512.70	\$36.54	\$365.40	\$67.50	\$675.00	\$78.02	\$780.20	\$186.6	2 \$1.866.20
159	CLEARANCE	EA 1				\$55.72	\$55.72	\$66.73	\$66.73		\$56.84	\$60.00	\$60.00	\$121.36		\$290.3	
160	Low Clearance [10] Miles Ahead Size: Var. x 36"	EA 1				\$59.70	\$59.70	\$119.62	\$119.62	\$36.54	\$36.54	\$85.00	\$85.00	\$78.02	\$78.02	\$186.6	2 \$186.62
160	Anead Size: var. x 36	EA 1				\$59.70	\$59.70	\$119.62	\$119.62	\$36.54	\$36.54	\$85.00	\$85.00	\$78.02	\$78.02	\$186.6	2 \$186.62
161	LEFT/RIGHT CURVE ARROW	EA 10				\$24.88	\$248.80	\$29.79	\$297.90	\$25.38	\$253.80	\$46.88	\$468.80	\$54.21	\$542.10	\$129.6	0 \$1,296.00
162	LEFT/RIGHT CURVE ARROW 10 MPH ADV SPEED	EA 10				\$35.82	\$358.20	\$42.90	\$429.00	\$36.54	\$365.40	\$67.50	\$675.00	\$78.02	\$780.20	\$186.6	2 \$1,866.20
163	PLAQUE	EA 10				\$8.96	\$89.60	\$10.72	\$107.20	\$10.87	\$108.70	\$15.75	\$157.50	\$23.21	\$232.10	\$46.6	66 \$466.60
	15 MPH ADV SPEED																
164	PLAQUE 20 MPH ADV SPEED	EA 10				\$8.96	\$89.60	\$10.72	\$107.20	\$10.87	\$108.70	\$15.75	\$157.50	\$23.21	\$232.10	\$46.6	\$466.60
165	PLAQUE	EA 10				\$8.96	\$89.60	\$10.72	\$107.20	\$10.87	\$108.70	\$15.75	\$157.50	\$23.21	\$232.10	\$46.6	66 \$466.60
	25 MPH ADV SPEED																
166	PLAQUE 30 MPH ADV SPEED	EA 10				\$8.96	\$89.60	\$10.72	\$107.20	\$10.87	\$108.70	\$15.75	\$157.50	\$23.21	\$232.10	\$46.6	66 \$466.60
167	PLAQUE	EA 10				\$8.96	\$89.60	\$10.72	\$107.20	\$10.87	\$108.70	\$15.75	\$157.50	\$23.21	\$232.10	\$46.6	66 \$466.60
	35 MPH ADV SPEED																
168	PLAQUE LEFT/RIGHT REVERSE	EA 10				\$8.96	\$89.60	\$10.72	\$107.20	\$10.87	\$108.70	\$15.75	\$157.50	\$23.21	\$232.10	\$46.6	\$466.60
169	TURN ARROW	EA 10				\$24.88	\$248.80	\$29.79	\$297.90	\$25.38	\$253.80	\$15.75	\$157.50	\$54.21	\$542.10	\$129.6	0 \$1,296.00
	LEFT/RIGHT REVERSE											,					
170 171	TURN ARROW NO OUTLET	EA 10 EA 10				\$35.82 \$24.88	\$358.20 \$248.80	\$42.90 \$29.79	\$429.00 \$297.90	\$36.54 \$25.38	\$365.40 \$253.80	\$67.50 \$46.88	\$675.00 \$468.80	\$78.02 \$54.21	\$780.20 \$542.10	\$186.6 \$129.6	
172	NO OUTLET	EA 10				\$35.82	\$358.20	\$42.90	\$429.00	\$25.56 \$36.54	\$253.60 \$365.40	\$67.50	\$675.00	\$78.02		\$129.0	
	NO OUTLET PLAQUE																
173	(DOUBLE SIDED) NO OUTLET PLAQUE	EA 50				\$12.96	\$648.00	\$13.13	\$656.50	\$9.76	\$488.00	\$15.00	\$750.00	\$20.83	\$1,041.50	\$41.4	\$2,073.50
174	(DOUBLE SIDED)	FA 50				\$9.72	\$486.00	\$9.85	\$492.50	\$9.76	\$488.00	\$15.00	\$750.00	\$20.83	\$1.041.50	\$31.1	0 \$1,555.00
175	Limited Sight Distance	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.54	\$182.70	\$67.50	\$337.50	\$78.02		\$186.6	
	LEFT/RIGHT REVERSE																
176	CURVE ARROW LEFT/RIGHT REVERSE	EA 10				\$24.88	\$248.80	\$29.79	\$297.90	\$25.38	\$253.80	\$46.88	\$468.80	\$54.21	\$542.10	\$129.6	0 \$1,296.00
177	CURVE ARROW	EA 10				\$35.82	\$358.20	\$42.90	\$429.00	\$36.54	\$365.40	\$67.50	\$675.00	\$78.02	\$780.20	\$186.6	2 \$1,866.20
178	PLAYGROUND (SYMBOL)	EA 10				\$24.88	\$248.80	\$29.79	\$297.90	\$25.38	\$253.80	\$46.88	\$468.80	\$54.21	\$542.10	\$129.6	0 \$1,296.00
179 180	PLAYGROUND (SYMBOL) WINDING ROAD	EA 5 EA 10				\$35.82 \$24.88	\$179.10 \$248.80	\$42.90 \$29.79	\$214.50 \$297.90	\$36.54 \$25.38	\$182.70 \$253.80	\$67.50 \$46.88	\$337.50 \$468.80	\$78.02 \$54.21		\$186.6 \$129.6	
181	WINDING ROAD	EA 10				\$35.82	\$358.20	\$42.90	\$429.00	\$36.54	\$365.40	\$67.50	\$675.00	\$78.02		\$186.6	
	LARGE SINGLE HEAD																
182	ARROW LARGE SINGLE LEFT HEAD	EA 5				\$31.84	\$159.20	\$38.13	\$190.65	\$32.48	\$162.40	\$60.00	\$300.00	\$69.20	\$346.00	\$165.8	9 \$829.45
183	ARROW	EA 5				\$31.84	\$159.20	\$38.13	\$190.65	\$32.48	\$162.40	\$60.00	\$300.00	\$69.20	\$346.00	\$165.8	9 \$829.45
	LARGE SINGLE RIGHT HEAD																
184 185	ARROW Share The Road	EA 5 EA 10				\$31.84 \$11.94	\$159.20 \$119.40	\$38.13 \$17.09	\$190.65 \$170.90	\$32.48 \$12.18	\$162.40 \$121.80	\$60.00 \$22.50	\$300.00 \$225.00	\$69.20 \$28.84		\$165.8 \$62.2	
186	Share The Road	EA 10				\$11.94	\$119.40	\$28.48	\$284.80	\$20.30	\$203.00	\$37.50	\$375.00	\$43.36	\$433.60	\$103.6	
	ARROW POINTING @ 7																
187	O'CLOCK ARROW POINTING @ 7	EA 10				\$14.93	\$149.30	\$21.36	\$213.60	\$15.23	\$152.30	\$28.15	\$281.50	\$32.53	\$325.30	\$77.7	6 \$777.60
188	O'CLOCK	EA 10				\$7.96	\$79.60	\$11.39	\$113.90	\$11.33	\$113.30	\$15.00	\$150.00	\$24.20	\$242.00	\$41.4	7 \$414.70
	ARROW POINTING @ 5																
189	O'CLOCK ARROW POINTING @ 5	EA 10				\$14.93	\$149.30	\$21.36	\$213.60	\$15.23	\$152.30	\$28.15	\$281.50	\$32.51	\$325.10	\$77.7	6 \$777.60
190	O'CLOCK	EA 10				\$7.96	\$79.60	\$11.39	\$113.90	\$11,33	\$113.30	\$15.00	\$150.00	\$24.20	\$242.00	\$41.4	7 \$414.70
191	Ahead Plaque	EA 10				\$14.93	\$149.30	\$17.87	\$178.70	\$15.23	\$152.30	\$15.00	\$150.00	\$32.51	\$325.10	\$77.7	6 \$777.60
192	Ahead Plaque LARGE DOUBLE HEAD	EA 10				\$7.96	\$79.60	\$9.53	\$95.30	\$11.33	\$113.30	\$15.00	\$150.00	\$24.20	\$242.00	\$41.4	7 \$414.70
193	ARROW	EA 5				\$31.84	\$159.20	\$38.13	\$190.65	\$32.48	\$162.40	\$60.00	\$300.00	\$69.36		\$165.8	
194	CHEVRON	EA 20				\$11.94	\$238.80	\$14.30	\$286.00	\$12.18	\$243.60	\$22.50	\$450.00	\$26.00		\$62.2	
195 196	CHEVRON STOP AHEAD SYMBOL	EA 20 EA 20				\$19.90 \$24.88	\$398.00 \$497.60	\$23.83 \$29.79	\$476.60 \$595.80	\$20.30 \$26.35	\$406.00 \$527.00	\$37.50 \$46.88	\$750.00 \$937.60	\$43.36 \$56.27	\$867.20 \$1.125.40	\$103.6 \$129.6	
196	Yield Ahead symbol	EA 5				\$24.88 \$19.90	\$99.50	\$29.79	\$148.95		\$131.75	\$46.88	\$937.60	\$56.27	\$281.35	\$129.6 \$129.6	0 \$648.00
198	SIGNAL AHEAD SYMBOL	EA 20				\$24.88	\$497.60	\$29.79	\$595.80	\$26.84	\$536.80	\$46.88	\$937.60	\$57.31	\$1,146.20	\$129.6	0 \$2,592.00
199	Merge (left)(Right) LANE REDUCTION	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.53	\$182.65	\$67.50	\$337.50	\$78.00	\$390.00	\$186.6	\$933.10
200	TRANSITION (LEFT) (RIGHT)	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.54	\$182.70	\$67.50	\$337.50	\$78.02	\$390.10	\$186.6	2 \$933.10
201	Added Lane Sign	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.54	\$182.70	\$67.50	\$337.50	\$78.02	\$390.10	\$186.6	2 \$933.10
202	Cross Traffic Does Not Stop Cross Traffic Does Not Stop	EA 10				\$17.91	\$179.10	\$21.45	\$214.50	\$18.27	\$182.70	\$33.75	\$337.50	\$39.00	\$390.00	\$93.3	\$933.10
203	(plaque)	EA 10				\$7.96	\$79.60	\$9.53	\$95.30	\$11.33	\$113.30	\$15.00	\$150.00	\$24.20	\$242.00	\$41.4	7 \$414.70
	Divided Highway Ends															•	
204	(symbol) Divided Highway Ends	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.54	\$182.70	\$67.50	\$337.50	\$78.02	\$390.10	\$186.6	\$933.10
205	(symbol)	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.54	\$182.70	\$67.50	\$337.50	\$78.02	\$390.10	\$186.6	2 \$933.10
206	TWO-WAY TRAFFIC	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.54	\$182.70	\$67.50	\$337.50	\$78.02	\$390.10	\$186.6	2 \$933.10
207 208	Bump Bump	EA 5 EA 5				\$24.88 \$35.82	\$124.40 \$179.10	\$29.79 \$42.90	\$148.95 \$214.50	\$24.36 \$36.54	\$121.80 \$182.70	\$46.88 \$67.50	\$234.40 \$337.50	\$52.02 \$78.02	\$260.10 \$390.10	\$129.6 \$186.6	
208	DIP	EA 5				\$35.82 \$24.88	\$179.10 \$124.40	\$42.90 \$29.79	\$214.50 \$148.95	\$36.54 \$24.36	\$182.70 \$121.80	\$67.50 \$46.88	\$337.50 \$234.40	\$78.02 \$52.02	\$390.10 \$260.10	\$186.6 \$129.6	62 \$933.10 60 \$648.00
210	DIP	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.54	\$182.70	\$67.50	\$337.50	\$78.02	\$390.10	\$186.6	
	Lane Ends Merge	FA . 5					6040 :-	676				****	****		****		
211	[Left]or[Right] Lane Ends Merge	EA 5				\$63.68	\$318.40	\$76.26	\$381.30	\$64.96	\$324.80	\$120.00	\$600.00	\$138.72	\$693.60	\$331.7	8 \$1,658.90
212	[Left]or[Right]	EA 5				\$35.82	\$179.10	\$42.90	\$214.50	\$36.54	\$182.70	\$67.50	\$337.50	\$78.04	\$390.20	\$186.6	\$933.10
	Green SNS with 9"sq city logo																
213	(3 color) Single sided	EA 60				\$16.31	\$978.60	\$12.82	\$769.20	\$18.52	\$1,111.20	\$55.00	\$3,300.00	\$39.57	\$2,374.20	\$46.6	66 \$2,799.60

Specification Responses	Description	CORE PRODUCTS LLC	Extended	US Standard Sign (Mandel Metals Inc)	xtended	Osburn Signs (Osburn Associates, Inc.)	Extended	Newman Signs Inc	Extended	Vulcan Aluminum, Vulcan Si	gns (Vulcan Inc.) Extended	Centerline Supply	Extended	Fastenal Company	Extended	Sign Assign (Tahir Diwan)	Extended
	Green SNS with 9"sq city logo		Extended	Olik	xteriaea												
214	(3 color) Double sided Green SNS with 9"sq city logo	EA 60				\$23.06	\$1,383.60	\$18.96	\$1,137.60	\$29.87	\$1,792.20	\$65.00	\$3,900.00	\$63.79	\$3,827.40	\$46.66	\$2,799.60
215	(3 color) Double sided	EA 60				\$23.06	\$1,383.60	\$18.96	\$1,137.60	\$29.87	\$1,792.20	\$65.00	\$3,900.00	\$63.79	\$3,827.40	\$46.66	\$2,799.60
216	Green SNS with 9"sq city logo (3 color) Single sided	EA 60				\$19.00	\$1,140.00	\$14.95	\$897.00	\$21.53	\$1,291.80	\$55.00	\$3,300.00	\$45.97	\$2,758.20	\$54.43	\$3,265.80
	Green SNS with 9"sq city logo																
217	(3 color) Double sided (GA 0.125)	EA 60				\$30.79	\$1,847.40	\$26.46	\$1,587.60	\$39.85	\$2,391.00	\$75.00	\$4,500.00	\$85.10	\$5,106.00	\$54.43	\$3,265.80
218	Green SNS with 9"sq city logo	EA 60				\$26.86		\$22.12	\$1,327,20		\$2.086.20	\$65.00	\$3,900.00		\$4,455,00	\$54.43	
218	(3 color) Double sided Green SNS with 9"sq city logo	EA 60				\$26.86	\$1,611.60	\$22.12	\$1,327.20	\$34.77	\$2,086.20	\$65.00	\$3,900.00	\$74.25	\$4,455.00	\$54.43	\$3,265.80
219	(3 color) Single sided	EA 60				\$21.75	\$1,305.00	\$17.09	\$1,025.40	\$24.68	\$1,480.80	\$55.00	\$3,300.00	\$52.71	\$3,162.60	\$62.21	\$3,732.60
	Green SNS with 9"sq city logo (3 color) Double sided (GA																
220	0.125) Green SNS with 9"sq city logo	EA 60				\$35.82	\$2,149.20	\$30.24	\$1,814.40	\$45.73	\$2,743.80	\$75.00	\$4,500.00	\$97.66	\$5,859.60	\$62.21	\$3,732.60
221	(3 color) Double sided	EA 60				\$30.75	\$1,845.00	\$25.28	\$1,516.80	\$39.83	\$2,389.80	\$65.00	\$3,900.00	\$85.06	\$5,103.60	\$62.21	\$3,732.60
222	Green SNS with 9"sq city logo (3 color) Single sided	EA 60				\$24.43	\$1,465.80	\$19.22	\$1,153,20	\$26.97	\$1.618.20	\$55.00	\$3,300.00	\$57.59	\$3,455.40	\$69.98	\$4,198.80
222	Green SNS with 9"sq city logo	EA 00				\$24.43	\$1,405.00	\$13.22	\$1,155.20	\$20.57	\$1,010.20	\$33.00	\$3,300.00	\$31.33	45,455.40	\$03.30	\$4,130.00
223	(3 color) Double sided (GA 0.125)	EA 60				\$39.60	\$2,376,00	\$34.02	\$2.041.20	\$51.28	\$3.076.80	\$75.00	\$4,500.00	\$109.51	\$6.570.60	\$69.98	\$4,198,80
	Green SNS with 9*sq city logo										,		. ,		,		. ,
224	(3 color) Single sided Green SNS with 9"sq city logo	EA 60				\$28.13	\$1,687.80	\$21.36	\$1,281.60	\$24.55	\$1,473.00	\$55.00	\$3,300.00	\$52.43	\$3,145.80	\$77.76	\$4,665.60
225	(3 color) Double sided	EA 60				\$38.44	\$2,306.40	\$31.60	\$1,896.00	\$37.45	\$2,247.00	\$65.00	\$3,900.00	\$79.96	\$4,797.60	\$77.76	\$4,665.60
226	Green SNS with 9"sq city logo (3 color) Single sided	EA 60				\$29.90	\$1,794.00	\$23.50	\$1,410.00	\$32.95	\$1,977.00	\$55.00	\$3,300.00	\$70.35	\$4,221.00	\$85.54	\$5,132.40
	Green SNS with 9"sq city logo																
227	(3 color) Double sided Green SNS with 9"sq city logo	EA 60				\$42.28	\$2,536.80	\$34.76	\$2,085.60	\$53.73	\$3,223.80	\$65.00	\$3,900.00	\$114.73	\$6,883.80	\$85.54	\$5,132.40
228	(3 color) Single sided Blue SNS with 9"sq city logo (3	EA 60				\$32.63	\$1,957.80	\$25.63	\$1,537.80	\$35.92	\$2,155.20	\$55.00	\$3,300.00	\$76.70	\$4,602.00	\$93.31	\$5,598.60
229	color) Single sided	EA 60				\$16.31	\$978.60	\$12.82	\$769.20	\$18.52	\$1,111.20	\$55.00	\$3,300.00	\$39.53	\$2,371.80	\$46.66	\$2,799.60
230	Blue SNS with 9"sq city logo (3 color) Double sided	EA 60				\$23.06	\$1,383.60	\$18.96	\$1,137,60	\$29.87	\$1.792.20	\$65.00	\$3,900.00	\$63.79	\$3.827.40	\$46.66	\$2,799.60
	Blue SNS with 9"sq city logo (3					,			. ,			******	**,******	******		, , , , ,	. ,
231	color) Double sided	EA 60				\$23.06	\$1,383.60	\$18.96	\$1,137.60	\$29.87	\$1,792.20	\$65.00	\$3,900.00	\$63.79	\$3,827.40	\$46.66	\$2,799.60
	Blue SNS with 9"sq city logo (3																
232	color) Single sided (GA 0.125) Blue SNS with 9"sq city logo (3	EA 60				\$22.93	\$1,375.80	\$19.29	\$1,157.40	\$25.78	\$1,546.80	\$75.00	\$4,500.00	\$55.05	\$3,303.00	\$54.43	\$3,265.80
233	color) Double sided	EA 60				\$26.86	\$1,611.60	\$22.12	\$1,327.20	\$21.53	\$1,291.80	\$65.00	\$3,900.00	\$45.97	\$2,758.20	\$54.43	\$3,265.80
234	Blue SNS with 9"sq city logo (3 color) Double sided	EA 60				\$26.86	\$1,611.60	\$22.12	\$1,327.20	\$34.77	\$2,086.20	\$65.00	\$3,900.00	\$74.25	\$4,455.00	\$54.43	\$3,265.80
235	Blue SNS with 9"sq city logo (3 color) Single sided (GA 0.125)	EA 60				\$26.25	\$1,575.00	\$22.05	\$1,323.00	\$29.45	\$1,767.00	\$75.00	\$4,500.00	\$62.89	\$3,773.40	\$62.21	\$3,732.60
236	Blue SNS with 9"sq city logo (3 color) Double sided	EA 60				\$30.75	\$1,845.00	\$25.28	\$1.516.80	\$39.83	\$2,389.80	\$65.00	\$3,900.00	\$85.06	\$5,103.60	\$62.21	
	Blue SNS with 9"sq city logo (3										. ,		,				,
237	color) Double sided	EA 60				\$30.75	\$1,845.00	\$25.28	\$1,516.80	\$39.83	\$2,389.80	\$65.00	\$3,900.00	\$85.06	\$5,103.60	\$62.21	\$3,732.60
	Blue SNS with 9"sq city logo (3																
238	color) Single sided (GA 0.125) Blue SNS with 9"sq city logo (3	EA 60				\$29.49	\$1,769.40	\$24.81	\$1,488.60	\$35.00	\$2,100.00	\$75.00	\$4,500.00	\$74.74	\$4,484.40	\$69.98	\$4,198.80
239	color) Double sided	EA 60				\$34.54	\$2,072.40	\$28.44	\$1,706.40	\$43.98	\$2,638.80	\$65.00	\$3,900.00	\$93.90	\$5,634.00	\$69.98	\$4,198.80
240	Blue SNS with 9"sq city logo (3 color) Single sided	EA 60				\$28.13	\$1,687.80	\$21.36	\$1,281,60	\$24.55	\$1,473,00	\$55.00	\$3,300,00	\$52.43	\$3.145.80	\$77.76	\$4,665,60
241	Blue SNS with 9"sq city logo (3	EA 60				\$38.44	*******	\$31.60	64 000 00	607.45	60.047.00	***	*******	£70.00	64 707 00	\$77.76	******
241	color) Double sided Blue SNS with 9"sq city logo (3	EA 60				\$38.44	\$2,306.40	\$31.60	\$1,896.00	\$37.45	\$2,247.00		\$3,900.00	\$79.96	\$4,797.60	\$11.16	. ,
242	color) Single sided Blue SNS with 9"sq city logo (3	EA 60				\$29.90	\$1,794.00	\$23.50	\$1,410.00	\$32.95	\$1,977.00	\$55.00	\$3,300.00	\$70.35	\$4,221.00	\$85.54	\$5,132.40
243	color) Double sided	EA 60				\$42.28	\$2,536.80	\$23.50	\$1,410.00	\$53.73	\$3,223.80	\$65.00	\$3,900.00	\$114.73	\$6,883.80	\$85.54	\$5,132.40
244	Blue SNS with 9"sq city logo (3 color) Single Sided	EA 60				\$32.63	\$1,957.80	\$25.63	\$1,537.80	\$35.92	\$2,155.20	\$55.00	\$3,300.00	\$76.70	\$4,602.00	\$93.31	\$5,598.60
	Green OverHead SNS with 18"																
245	sq city logo (3 color) Green OverHead SNS with 18"	EA 20				\$76.13	\$1,522.60	\$59.81	\$1,196.20	\$85.05	\$1,701.00	\$131.25	\$2,625.00	\$181.62	\$3,632.40	\$217.33	\$4,346.60
246	sq city logo (3 color)	EA 20				\$81.56	\$1,631.20	\$64.08	\$1,281.60	\$91.13	\$1,822.60	\$140.65	\$2,813.00	\$194.66	\$3,893.20	\$233.28	\$4,665.60
247	Green OverHead SNS with 18" sq city logo (3 color)	EA 20				\$90.00	\$1,800.00	\$68.36	\$1,367.20	\$97.20	\$1,944.00	\$150.00	\$3,000.00	\$207.57	\$4,151.40	\$248.83	\$4,976.60
=::	Green OverHead SNS with 18"					,,,,,,						******		******			
248	sq city logo (3 color) Green OverHead SNS with 18"	EA 20				\$92.44	\$1,848.80	\$72.63	\$1,452.60	\$103.28	\$2,065.60	\$159.50	\$3,190.00	\$232.80	\$4,656.00	\$264.38	\$5,287.60
249	sq city logo (3 color)	EA 20				\$97.88	\$1,957.60	\$76.90	\$1,538.00	\$109.35	\$2,187.00	\$168.75	\$3,375.00	\$233.52	\$4,670.40	\$279.94	\$5,598.80
250	Green OverHead SNS with 18" sq city logo (3 color)	EA 20				\$103.31	\$2,066.20	\$81.17	\$1,623.40	\$115.43	\$2,308.60	\$178.15	\$3,563.00	\$246.50	\$4,930.00	\$295.49	\$5,909.80
054	Green OverHead SNS with 18"	54 00					\$2,175.00	*****	\$1,708.80	\$121.50	\$2,430.00	****	\$3,750.00	*****	\$5.188.60		\$6,220.80
251	sq city logo (3 color) Green OverHead SNS with 18"	EA 20				\$108.75	. ,	\$85.44	. ,	,	.,	\$187.50	,	\$259.43	,	\$311.04	,
252	sq city logo (3 color)	EA 20				\$114.19	\$2,283.80	\$89.72	\$1,794.40	\$127.58	\$2,551.60	\$196.88	\$3,937.60	\$272.41	\$5,448.20	\$326.59	\$6,531.80
253	Green OverHead SNS with 18" sq city logo (3 color)	EA 20				\$123.75	\$2,475.00	\$93.99	\$1,879.80	\$133.65	\$2,673.00	\$206.25	\$4,125.00	\$285.40	\$5,708.00	\$342.14	\$6,842.80
254	Green OverHead SNS with 18" sq city logo (3 color)	EA 20				\$125.06	\$2,501.20	\$98.26	\$1,965.20		\$2,794.60	\$215.65	\$4,313.00	\$298.36	\$5,967.20	\$357.70	
	Green OverHead SNS with 18"																. ,
255	sq city logo (3 color) Green OverHead SNS with 24"	EA 20				\$130.50	\$2,610.00	\$102.53	\$2,050.60	\$145.80	\$2,916.00	\$225.00	\$4,500.00	\$311.33	\$6,226.60	\$373.25	\$7,465.00
256	sq city logo (3 color)	EA 5				\$76.13	\$380.65	\$59.81	\$299.05	\$85.05	\$425.25	\$131.25	\$656.25	\$181.62	\$908.10	\$217.73	\$1,088.65
257	Green OverHead SNS with 24" sq city logo (3 color)	EA 5				\$81.56	\$407.80	\$64.08	\$320.40	\$91.13	\$455.65	\$140.65	\$703.25	\$194.60	\$973.00	\$233.28	\$1,166.40
	Green OverHead SNS with 24"																
258	sq city logo (3 color) Green OverHead SNS with 24"	EA 5				\$90.00	\$450.00	\$68.36	\$341.80	\$97.20	\$486.00	\$150.00	\$750.00	\$207.57	\$1,037.85	\$248.83	\$1,244.15
259	sq city logo (3 color)	EA 5				\$92.44	\$462.20	\$72.63	\$363.15	\$103.28	\$516.40	\$159.45	\$797.25	\$220.54	\$1,102.70	\$264.38	\$1,321.90

Column	Specification Responses		CORE PRODUCTS LLC		US Standard Sign (Mandel Metals Inc)	Osburn Signs (Osburn Associates, Inc.)		Newman Signs Inc		Vulcan Aluminum, Vulcan Si		Centerline Supply		Fastenal Company		Sign Assign (Tahir Diwan)	
March Marc	Line		Mfgr MfgNo UOM QTY Unit	Extended	Unit Extend	ed Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
Column	260	sq city logo (3 color)	EA 5			\$97.88	\$489.40	\$76.90	\$384.50	\$109.35	\$546.75	\$168.75	\$843.75	\$233.52	\$1,167.60	\$279.94	\$1,399.70
Column C	261	Green OverHead SNS with 24" sq city logo (3 color)	FA 5			\$103.31	\$516.55	\$81.17	\$405.85	\$115.43	\$577.15	\$178.15	\$890.75	\$246.50	\$1,232,50	\$295.49	\$1.477.45
		Green OverHead SNS with 24"															
	262	sq city logo (3 color) Green OverHead SNS with 24"	EA 5			\$108.75	\$543.75	\$85.44	\$427.20	\$121.50	\$607.50	\$187.50	\$937.50	\$259.43	\$1,297.15	\$311.04	\$1,555.20
	263	sq city logo (3 color)	EA 5			\$114.19	\$570.95	\$89.72	\$448.60	\$127.58	\$637.90	\$196.89	\$984.45	\$272.41	\$1,362.05	\$326.59	\$1,632.95
Part	264	Green OverHead SNS with 24"	EA 6			\$122.75	\$619.7 5	\$02.00	\$460.05	\$122.60	01.0332	\$206.25	\$1 021 25	\$295.47	\$1 427 25	\$342.14	\$1 710 70
Control Cont		Green OverHead SNS with 24"															
Property of the content of the con	265		EA 5			\$125.06	\$625.30	\$98.26	\$491.30	\$139.73	\$698.65	\$215.65	\$1,078.25	\$298.36	\$1,491.80	\$357.70	\$1,788.50
Part	266		EA 5			\$130.50	\$652.50	\$102.53	\$512.65	\$145.80	\$729.00	\$225.00	\$1,125.00	\$311.33	\$1,556.65	\$373.25	\$1,866.25
14 15 15 15 15 15 15 15	267		EA 10			\$15.92	\$159.20	\$22.79	\$227.90	\$16.24	\$162.40	\$30.00	\$300.00	\$34.66	\$346.60	\$82.94	\$829.40
Section Sect	268		EA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
Column C		Directional Arrow Auxiliary															
Column	269		EA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
10 10 10 10 10 10 10 10	270		EA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
Part	271		FA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
Part											• • • • • • • • • • • • • • • • • • • •	,	•			• • • • • • • • • • • • • • • • • • • •	
190 190	272		EA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
1966 1966	273	Signs (45°Left)	EA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
Part	274		EA 6			****	¢ = 2	840.40	674.70	****	604.00	840.50	£00.00	620.04	6427.04	645.00	\$272.46
Part		Directional Arrow Auxiliary									• • • •	,	• • • • • • • • • • • • • • • • • • • •			•	
Second Content	275		EA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
Part	276		EA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
Description of the control of the	077	Directional Arrow Auxiliary	54 4								•••					***	*****
The control of the	211	Signs (45" Double Arrow) Directional Arrow Auxiliary	EA 4			\$8.68	\$34.72	\$12.46	\$49.84	\$10.70	\$42.80	\$16.50	\$66.00	\$22.84	\$91.36	\$45.36	\$181.44
Second Content	278	Signs (45° Double Arrow)	EA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
December Part	279		FA 5			\$8.68	\$43.40	\$12.46	\$62.30	\$10.70	\$53.50	\$16.50	\$82.50	\$22.84	\$114.20	\$45.36	\$226.80
Discription Color		Directional Arrow Auxiliary															
Property																	
Canada	282	Object Marker	EA 20			\$11.94	\$238.80	\$14.30		\$12.18	\$243.60	\$22.50		\$26.00		\$62.21	\$1,244.20
1			EA 20														
19	285	9" x 12"	EA 25		\$2.44 \$6	1.00 \$1.86	\$46.50	\$1.82	\$45.50	\$2.13	\$53.25	\$2.43	\$60.75	\$25.25	\$404.00	\$7.50	\$187.50
250 7-12 5.0	286		EA 25 EA 25		\$4.85 \$12 \$3.78 \$9	1.25 \$2.78 1.50 \$3.72	\$69.50 \$93.00	\$2.74 \$3.65			\$73.25 \$97.00	\$3.65 \$4.88	\$91.25 \$122.00				\$231.25 \$309.25
200 P 1-40° EA 20 1630 1675 1640 1650 1675 1640 1650 1675 1640 1650 1675 1640 1650 1675 1640 1650 1675 1640 1650 1675 1640 1650 1675 1640 1650 1650 1650 1650 1650 1650 1650 165	288	9" x 30"	EA 25		\$4.52 \$11	3.00 \$4.65	\$116.25	\$4.56	\$114.00	\$4.89	\$122.25	\$6.10	\$152.50			\$14.96	\$374.00
Part	289	9" x 36" 9" x 42"	EA 25 EA 25		\$5.40 \$13: \$6.30 \$15:	5.00 \$5.58 7.50 \$6.50	\$139.50 \$162.50	\$5.47 \$6.38	\$136.75 \$159.50		\$146.25 \$199.00	\$7.32 \$8.53					\$437.50 \$503.50
Page	291	9" x 48"	EA 25		\$7.20 \$18	0.00 \$7.44	\$186.00	\$7.30	\$182.50	\$8.46	\$211.50	\$9.75	\$243.75			\$22.74	\$568.50
25			EA 25														
286	294	9" x 66"	EA 25		\$16.60 \$41:	5.00 \$10.23	\$255.75	\$10.03	\$250.75	\$11.82	\$295.50	\$13.40	\$335.00			\$30.51	\$762.75
277 P' 1-27			EA 25 EA 25		\$4.39 \$10 \$5.59 \$13	0.75 \$2.92 0.75 \$4.36	\$73.00 \$109.00	\$2.84 \$4.26									
90 9 1 30 1	297	9" x 24"	EA 25		\$5.90 \$14	7.50 \$5.84	\$146.00	\$5.68	\$142.00	\$6.63	\$165.75	\$6.75	\$168.75			\$22.74	\$568.50
90 9" 4-4" EA 25 98 98.55 244.55 98.00 97.45 14.50 328.50 98.50 328.50 98.50 98.50 98.50 98.50 98.50 98.50 98.50 98.50 98.50 99.50 9	298		EA 25 EA 25		\$7.03 \$17: \$8.45 \$21	5.75 \$7.29 1.25 \$8.75	\$182.25 \$218.75	\$7.10 \$8.52			\$205.00 \$241.25	\$8.44 \$10.15					\$648.00 \$777.50
92 0° 15° 16° 16° 16° 16° 16° 16° 16° 16° 16° 16	300	9" x 42"	EA 25		\$9.85 \$24	5.25 \$10.19	\$254.75	\$9.94	\$248.50	\$11.56	\$289.00	\$11.82	\$295.50			\$36.29	\$907.25
970 0° 10° EA 25 \$ \$15.00 \$31.			EA 25 FA 25					\$11.37 \$12.79									
90 91 727 6A 25 916.00 \$11.00 \$279.00 \$10.00 \$277.57 \$10.04 \$473.00 \$2.00 \$31.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$279.00 \$10.00 \$1			EA 25					\$14.21									
100 12 KP EA 25 \$1.70 \$44.00 \$1.24 \$31.00 \$1.45 \$41.25 \$41.25 \$4							\$401.25 \$279.00	\$15.63 \$10.95									
100 12" x 12" EA 25 \$32.75 \$34.55 \$32.75 \$35.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$30.00 \$3.27 \$3.00 \$3.27 \$3.00 \$3.27 \$3.00 \$3.27 \$3.00 \$3.27 \$3.00 \$3.27 \$3.00 \$3.27 \$3.00 \$3.27 \$3.00 \$3.27 \$3.20 \$	306	12" X 6"	EA 25		\$1.76 \$4	1.00 \$1.24	\$31.00	\$1.22	\$30.50	\$1.48	\$37.00	\$1.65	\$41.25			\$7.50	\$187.50
100 12" x16" EA 25 \$3.78 \$94.50 \$3.78 \$3.00 \$3.85 \$12.50 \$3.75 \$3.00 \$3.75 \$3.00 \$3.75 \$3.00 \$3.75 \$3.00 \$3.75 \$3.00 \$3.75 \$3.00 \$3.75 \$3.00 \$3.75 \$3.	307 308		EA 25 EA 25				\$41.25 \$62.00	\$1.62 \$2.43	\$40.50 \$60.75		\$47.75 \$69.25						
12° 12° 18° 18° 18° 18° 18° 18° 18° 18° 18° 18	309	12" x 18"	EA 25		\$3.78 \$9	1.50 \$3.72	\$93.00	\$3.65	\$91.25	\$3.90	\$97.50	\$4.88	\$122.00			\$15.16	\$379.00
12° 12° 18° 18° 18° 18° 18° 18° 18° 18° 18° 18	311		EA 25 EA 25		\$6.00 \$15	5.75 5.00 \$6.20			\$152.00		\$163.00	\$8.13				\$20.48	\$512.00
144 12" x54" EA 25			EA 25			0.00 \$7.44	\$186.00	\$7.30									
156 18'x6' EA 25 524 \$51.00 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$46.50 \$1.86 \$1			EA 25				\$248.00 \$279.00	\$10.95									
18" x24"			EA 25			1.00 \$1.86	\$46.50	\$1.82	\$45.50								\$187.50
18	316 317		EA 25 EA 25		\$5.40 \$13: \$7,20 \$18:	5.00 \$5.58 0.00 \$7.44	\$139.50 \$186.00	\$5.47 \$7.30	\$136.75 \$182.50		\$146.25 \$194.00	\$7.32 \$9.75				\$15.55 \$20.74	\$388.75 \$518.50
\$20	318	18" x 30"	EA 25		\$9.01 \$22	5.25 \$9.30	\$232.50	\$9.12	\$228.00	\$9.78	\$244.50	\$12.19	\$304.75			\$25.92	\$648.00
322 24" x8" EA 25 \$4.62 \$115.50 \$3.31 \$82.75 \$3.24 \$81.00 \$3.46 \$86.25 \$4.33 \$106.25 \$4.50 \$31.50 \$237.50 \$328.00 \$328			EA 25 EA 25					\$10.95 \$5.32	\$273.75 \$133.00								
233 24" x10" EA 25 S8.13 \$203.25 \$4.05 \$103.25 \$4.05 \$107.75 \$5.42 \$135.50 \$288.00 \$224.00 \$32.73 \$242.25 \$103.4 \$255.0 \$13.00 \$325.00 \$527.26 \$591.25 \$288.00 \$32.73 \$242.25 \$103.4 \$255.0 \$13.00 \$325.75 \$16.25 \$405.25 \$10.25 \$		24" x 6"	EA 25		\$2.97	1.25 \$2.38	\$59.50	\$2.43	\$60.75			\$3.25				\$7.50	\$187.50
25	323		EA 25		\$8.13 \$20	3.25 \$4.13	\$103.25	\$4.05	\$101.25		\$107.75						\$288.00
266 24" x86" EA 25 \$14.41 \$380.25 \$14.88 \$372.00 \$14.57 \$16.21 \$405.25 \$19.50 \$487.50 \$15.00 \$55.00 \$51.00 \$55.00 \$10.00 \$55.00 \$10.00	324		EA 25		\$9.61 \$24	9.92	\$248.00	\$9.73	\$243.25		\$258.50						\$691.25
27 24" x48" EA 25 \$55.50 \$19.84 \$496.00 \$19.84 \$486.00 \$21.26 \$551.50 \$2.00 \$550.00 \$553.00 \$1382.00 \$1382.00 \$22.26 \$555.00 \$19.84 \$496.00 \$19.84 \$486.00 \$21.26 \$551.50 \$26.00 \$553.00 \$553.00 \$1382.00	326	24" x 36"	EA 25		\$14.41 \$36	0.25 \$14.88	\$372.00	\$14.59	\$364.75	\$16.21	\$405.25	\$19.50	\$487.50			\$41.47	\$1,036.75
229 30 x 6' EA 25 \$3.36 \$84.00 \$3.10 \$77.50 \$3.04 \$78.00 \$3.27 \$81.75 \$4.06 \$101.50 \$92.25 \$231.25 \$31.30 \$30 x 8' EA 25 \$5.50 \$15.25 \$4.05 \$101.25 \$4.35 \$4.3	327	24" x 48"	EA 25		\$22.26 \$55	5.50 \$19.84	\$496.00	\$19.46	\$486.50		\$531.50	\$26.00	\$650.00				\$1,382.50
331 30" x30" EA 25 \$18.01 \$450.25 \$15.50 \$387.50 \$15.50 \$387.50 \$16.28 \$407.00 \$20.32 \$508.00 \$43.20 \$1,080.00 \$10.28 \$407.00 \$20.32 \$508.00 \$1.08 \$407.00 \$20.32 \$508.00 \$1,080.00 \$10.28 \$407.00 \$20.32 \$508.00 \$1,080			EA 25														
33 3 30" x48" EA 25 \$27.03 \$675.75 \$24.80 \$62.00 \$24.32 \$606.00 \$22.37 \$659.25 \$32.50 \$812.50 \$812.50 \$812.50 \$83.20 \$12.50 \$8	330	30" x 8"	EA 25		\$5.77 \$14	1.25 \$4.13	\$103.25	\$4.05	\$101.25	\$4.35	\$108.75	\$5.42					\$313.00
33 3 30" x48" EA 25 \$27.03 \$67.575 \$24.80 \$620.00 \$24.32 \$606.00 \$22.37 \$659.25 \$31.50 \$812.50 \$812.50 \$81.25 \$31.50 \$89.12 \$17.28.00 \$33.04 \$31.05 \$4.05 \$31.05 \$82.55 \$31.50 \$31.05 \$3	332		EA 25 EA 25		\$21.03 \$52	5.75 \$18.60	\$465.00	\$18.24	\$456.00	\$20.07	\$501.75	\$24.38	\$609.50				\$1,296.00
335 36" x8" EA 25 \$6.69 \$167.25 \$4.96 \$124.00 \$54.85 \$121.50 \$5.20 \$130.00 \$6.50 \$162.50 \$14.82 \$370.50 \$1336 36" x36" EA 25 \$24.65 \$616.25 \$22.32 \$580.00 \$21.93 \$572.55 \$23.92 \$580.00 \$29.25 \$731.25 \$62.24 \$1,555.25 \$377 36" x48" EA 25 \$311.78 \$794.50 \$22.76 \$74.00 \$22.19 \$722.75 \$31.49 \$787.25 \$39.00 \$975.00 \$822.48 \$2071.00	333		EA 25		\$27.03 \$67	5.75 \$24.80	\$620.00	\$24.32			\$659.25						\$1,728.00
336 36" x8" EA 25 \$24.65 \$616.25 \$22.32 \$558.00 \$21.89 \$547.25 \$2.92 \$598.00 \$29.25 \$731.25 \$52.71 \$1,555.25 \$31.73 \$18" x48" EA 25 \$31.73 \$794.50 \$22.76 \$744.00 \$22.19 \$792.75 \$31.49 \$787.25 \$30.00 \$375.00 \$82.84 \$2.071.00	335	36" x 8"	EA 25		\$6.69 \$16	7.25 \$4.96	\$124.00	\$4.86	\$121.50	\$5.20	\$130.00	\$6.50	\$162.50			\$14.82	\$370.50
	336	36" x 36"	EA 25		\$24.65 \$61	3.25 \$22.32	\$558.00	\$21.89	\$547.25	\$23.92	\$598.00	\$29.25	\$731.25				\$1,555.25

Specification Responses			CORE PRODUCTS LLC		US Standard Sign (Mandel Metals Inc)		Osburn Signs (Osburn Associates, Inc.)		Newman Signs Inc		Vulcan Aluminum, Vulcan Si	ons (Vulcan Inc.)	Centerline Supply		Fastenal Company		Sign Assign (Tahir Diwan)	
Line 339	Description	Mfgr MfgNo UOM QT	Y Unit	Extended	Unit Ex	xtended	Unit	Extended	Unit	Extended	Unit	Extended		Extended		Extended	Unit	Extended
339	48" x 48"	EA 25	5		\$41.48	\$1,037.00	\$39.68	\$992.00	\$38.92	\$973.00	\$41.73	\$1,043.25	\$52.00	\$1,300.00	-		\$110.59	\$2,764.75
340	48" x 54"	EA 25	5		\$49.27	\$1,231,75	\$44.64	\$1,116.00	\$43.78	\$1,094.50	\$46.84	\$1,171.00	\$58.50	\$1,462.50			\$124.42	\$3,110.50
341	48" x 60"	EA 25			\$50.96	\$1,274.00	\$49.60	\$1,240.00	\$48.65	\$1,216.25	\$51.96	\$1,299.00	\$65.00	\$1,625.00			\$138.24	\$3,456.00
342	30" TRIANGLE	EA 25			\$8.62	\$215.50	\$9.30	\$232.50	\$7.60	\$190.00	\$8.57	\$214.25	\$20.32	\$508.00			\$27.95	\$698.75
342	36" TRIANGLE	EA 25			\$12.23	\$305.75	\$17.36	\$434.00	\$10.95	\$273.75	\$11.81	\$295.25	\$29.25	\$731.25			\$54.00	\$1,350.00
343 344	48" TRIANGI F	EA 25 EA 25	3		\$21.42	\$535.50	\$29.76	\$744.00	\$19.46	\$486.50	\$20.05	\$501.25	\$52.00	\$1,300.00			\$110.59	\$2,764,75
345	18" x 18" Oct	EA 25				\$126.75	\$5.58	\$139.50	\$5.47	\$136.75	\$5.86	\$146.50	\$7.32	\$183.00			\$31.10	
346	24" x 24" Oct	EA 25			\$9.03	\$225.75	\$9.92	\$248.00	\$9.73	\$243.25		\$244.50	\$13.00	\$325.00			\$55.30	
347	30" x 30" Oct	EA 25			\$14.11	\$352.75	\$15.50	\$387.50	\$15.20	\$380.00	\$15.41	\$385.25	\$20.32	\$508.00			\$86.40	
348	36" x 36" Oct	EA 25				\$507.75	\$22.32	\$558.00	\$21.89	\$547.25	\$22.35	\$558.75	\$29.25	\$731.25			\$124.42	
0.10	City Logo Decal (9" x 9") HIP -	271 20	,		Q20.01	40010	V 22.02	\$ 000.00	42 1.00	Q047.20	V 22.00	\$555.75	425.25	\$701.20			V.24.42	\$5,110.00
	Banded, 3-color printed w/																	
349	Clear Overlay	EA 500	n				\$1.95	\$975.00	\$3,33	\$1,665.00	\$4.78	\$2,390.00	\$4.25	\$2,125.00	\$5.01	\$2,505.00	\$9.00	\$4,500.00
	City Logo Decal (6" x 6") HIP -									. ,		• ,		.,			•	. ,
	Banded, 3-color printed w/																	
350	Clear Overlay	EA 50)				\$0.88	\$44.00	\$1.48	\$74.00	\$2.35	\$117.50	\$3.75	\$187.50	\$5.01	\$250.50	\$5.50	\$275.00
	City of McKinney Sign																	
	Inventory Decal (3.75" x 3.75") -																	
351	Engineer Grade - Orange	EA 100	00				\$0.40	\$400.00	\$0.58	\$580.00	\$1.85	\$1,850.00	\$1.75	\$1,750.00	\$3.95	\$3,950.00	\$2.85	\$2,850.00
	Cross Brackets- 2" Square																	
	Post Cap Bracket with flat																	
	street sign blade holder 12"																	
	(Flat and Extruded blades)																	
352	Color: silver	EA 200	0				\$8.50	\$1,700.00	\$6.00	\$1,200.00	\$8.97	\$1,794.00	\$7.75	\$1,550.00	\$19.16	\$3,832.00	\$24.00	\$4,800.00
	Cross Brackets- 2" Square																	
	Post Cap Bracket with flat																	
	street sign blade holder 18"																	
	(Flat and Extruded blades)																	
353	Color: silver	EA 200	0						\$46.58	\$9,316.00	\$31.10	\$6,220.00	\$21.50	\$4,300.00	\$66.41	\$13,282.00	\$36.00	\$7,200.00
	Cross Brackets- 2" Square																	
	Post Cap Bracket with flat																	
	street sign blade holder 24"																	
	(Flat and Extruded blades)																	
354	Color: silver	EA 300	0						\$48.60	\$14,580.00	\$37.10	\$11,130.00	\$33.75	\$10,125.00	\$79.22	\$23,766.00	\$46.00	\$13,800.00
	Universal Cross Brackets- 2"																	
	Square and Round Post Cap																	
	Bracket with flat street sign																	
	blade holder 12" (Flat and																	
355	Extruded blades) Color: silver	EA 200	0						\$6.41	\$1,282.00	\$8.97	\$1,794.00	\$7.75	\$1,550.00	\$18.65	\$3,730.00	\$25.00	\$5,000.00
	Cross Brackets - Crosspiece																	
	Bracket 12" Color: silver (Flat																	
356	and Extruded blades)	EA 200	0						\$9.36	\$1,872.00	\$8.97	\$1,794.00	\$7.75	\$1,550.00	\$19.16	\$3,832.00	\$30.00	\$6,000.00
	Cross Brackets - Crosspiece																	
	Bracket 18" Color: silver (Flat																	
357	and Extruded blades)	EA 200	0						\$41.80	\$8,360.00	\$31.10	\$6,220.00	\$21.50	\$4,300.00	\$66.41	\$13,282.00	\$45.00	\$9,000.00
	Cross Brackets - Crosspiece																	
	Bracket 24" Color: silver (Flat																	
358	and Extruded blades)	EA 200	0						\$48.60	\$9,720.00	\$38.10	\$7,620.00	\$33.75	\$6,750.00	\$81.37	\$16,274.00	\$54.00	\$10,800.00
	Cross Brackets - Silver 5.5"																	
	Crosspiece: Adjustable 45- or																	
	180-Degree Cross Separator																	
359	(Flat and Extruded blades)	EA 50)						\$7.88	\$394.00	\$9.55	\$477.50	\$4.75	\$237.50	\$20.43	\$1,021.50	\$12.00	\$600.00
	Round Post Brackets -Sign																	
	post U-Bolt Clamp Bracket set:																	
	2 3/8-inch outside diameter																	
360	round	EA 100	0						\$3.85	\$385.00	\$6.10	\$610.00	\$4.40	\$440.00	\$13.02	\$1,302.00	\$18.00	\$1,800.00
	Round Post Brackets -Sign																	
	post U-Bolt Clamp Bracket set:																	
	2 7/8-inch outside diameter	=	_															
361	round	EA 100	U								\$8.77	\$877.00	\$5.50	\$550.00	\$18.72	\$1,872.00	\$18.00	\$1,800.00
	Round Post Brackets -Sign																	
	post U-Bolt Clamp Bracket set:																	
362	3-inch outside diameter round	EA 100	0								\$8.97	\$897.00	\$6.25	\$625.00	\$19.16	\$1,916.00	***	\$1,800.00
302	Round Post Brackets -Back to	EA 100	U								\$8.97	\$897.00	\$6.25	\$625.00	\$19.16	\$1,916.00	\$18.00	\$1,800.00
	Roal (Double elemen 2.25"																	
363	Back (Double clamps. 2 3/8" Tube Post)	EA 200	0				\$5.28	£4 0E6 00	\$4.00	\$800.00	40.70	64 050 00	\$4.50	\$900.00	\$14.48	£2 006 00	***	¢¢ 000 00
303		EA 200	U				\$5.28	\$1,056.00	\$4.00	\$800.00	\$6.78	\$1,356.00	\$4.50	\$900.00	\$14.48	\$2,896.00	\$30.00	\$6,000.00
	Cantilever Wing bracket 14"																	
364	Color: silver (Flat and Extruded blades)	EA 200	0				\$8.50	\$1,700.00	\$7.20	\$1,440.00	\$7.55	\$1,510.00	\$6,25	\$1,250.00	\$16.12	\$3,224.00	***	\$7,800.00
J04		EA 200	•				\$8.50	\$1,700.00	\$1.20	\$1,440.00	\$7.55	\$1,510.00	\$6.25	\$1,25U.UU	\$16.12	\$3,224.00	\$39.00	\$1,000.00
	Cantilever Wing bracket 24"																	
365	Color: silver (Flat and Extruded blades)	EA 300	n				\$13.50	\$4.050.00	\$14.26	\$4,278,00	\$13.10	\$3,930.00	\$16.88	\$5.064.00	\$27.98	\$8,394.00	640.00	\$14,700.00
500	Cantilever Wing bracket 30"	EA 300	•				\$13.50	\$4,USU.UU	\$14.26	\$4,278.00	\$13.10	\$3,930.00	\$16.88	\$5,064.00	\$21.98	\$0,394.00	\$49.00	\$14,700.00
	Color: silver (Flat and Extruded																	
366	blades)	EA 300	n						\$14.26	\$4,278,00	\$41,55	\$12,465.00	\$28.50	\$8.550.00	\$90.72	\$26,619.00	¢50.00	\$17,700.00
500	Cantilever Wing bracket 36"	EA 300	•						\$14.2b	\$4,270.00	\$41.55	\$12,465.00	\$28.50	\$0,000.00	\$08.73	\$20,019.00	\$59.00	\$17,700.00
	Color: silver (Flat and Extruded																	
367	blades)	EA 300	n						\$14.26	\$4,278.00	\$43.78	\$13,134.00	\$42.50	\$12,750.00	£02.47	\$28,041.00	***	\$20,700.00
307	DiadeS)	EA 300	U						\$14.26	\$4,278.00	\$43.78	\$13,134.00	\$42.50	\$12,750.00	\$93.47	\$28,041.00	\$69.00	\$20,700.00
	Square Post/Side Post																	
	Brackets - Flared Leg SS																	
200	Product with weather and to the	EA 000		\$285.00					\$4.36	\$1,308.00	****	\$70F.00	\$2.25	\$67E 00		£4 E02 00	***	64 000 00
300	Bracket with washer and bolt 2 WAY 290 SERIES 3M	EA 300	50.9	\$285.00					\$4.36	\$1,308.00	\$2.35	\$705.00	\$2.25	\$675.00	\$5.01	\$1,503.00	\$6.00	\$1,800.00
	Paiend Dayment Marker: *"																	
369	Raised Pavement Markers All colors	EA 250	n						\$1.30	\$325.00	\$2.55	\$637.50	\$1.20	\$300.00	\$5.43	\$1,357.50	\$4.00	\$1,000.00
909	2 WAY 290 SERIES with PSA	EA 250	U						\$1.30	\$325.00	\$2.55	\$637.50	\$1.20	\$300.00	\$5.43	\$1,357.50	\$4.00	\$1,000.00
370	3M Raised Pavement Markers All Colors	EA 500	n						\$3.33	\$1.665.00	\$2.55	\$1,275.00	\$3.85	\$1,925.00	ee 40	\$2,715.00	*40.00	\$5,000.00
310	1 WAY 290 SERIES 3M	EA 500	U						\$3.33	\$1,000.00	\$2.55	\$1,275.00	\$3.85	\$1,925.00	\$5.43	\$2,715.00	\$10.00	\$5,000.00
	1 WAY 290 SERIES 3M Raised Pavement Markers All																	
371	colors	FA 250	n						64.00	\$325.00	\$1.45	\$362.50	\$1.20	\$300.00	£2.40	\$775.00	***	\$500.00
3/ 1	CUIDIS	EA 250	U						\$1.30	\$325.00	\$1.45	\$362.50	\$1.20	\$300.00	\$3.10	\$115.00	\$2.00	00.000

Specification Responses				ORE PRODUCTS LLC	U	IS Standard Sign (Mandel Metals Inc)		Osburn Signs (Osburn Associates, Inc.)		Newman Signs Inc		Vulcan Aluminum, Vulcan S	gns (Vulcan Inc.)	Centerline Supply		Fastenal Company		Sign Assign (Tahir Diwan)	
Line	Description	Mfgr MfgNo U	OM QTY U	Init Ex	xtended U	Init	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	1 WAY 290 SERIES with PSA																		
	3M Raised Pavement Markers																		
372	All Colors	E	EA 500							\$3.33	\$1,665.00	\$1.45	\$725.00	\$3.65	\$1,825.00	\$3.10	\$1,550.00	\$6.00	\$3,000.00
	Traffic Marking paint aerosols																		
	spray can (flat and point tip All																		
373	colors)	E	EA 120											\$4.15	\$498.00			\$12.00	\$1,440.00
	Glass Beads AASHTO M247																		
374	(Bag)		EA 1											\$27.50	\$27.50			\$45.00	
375	Adhesive Epoxy Kits	E	EA 5									\$110.12	\$550.60	\$350.00	\$1,750.00	\$235.16	\$1,175.80	\$100.00	\$500.00
	Flexible Sign Post with																		
	Coupler and Quick Release																		
376	Black Base w/reflective collars		EA 50											\$185.00	\$9,250.00			\$48.00	\$2,400.00
	36" Traffic Lime Green Cones -																		
	Black Base with two reflective																		
377	collars		EA 20									\$31.55	\$631.00	\$28.50	\$570.00	\$19.36	\$387.20	\$23.95	\$479.00
	28" Traffic Cones - Black Base																		
378	with two reflective collars		EA 50									\$17.42	\$871.00	\$15.50	\$775.00	\$17.22	\$861.00	\$19.50	\$975.00
	36" Traffic Cones - Black Base																		
379	with reflective collars	E	EA 50									\$23.11	\$1,155.50	\$22.50	\$1,125.00	\$20.01	\$1,000.50	\$22.50	\$1,125.00
			Total		\$285.00		\$20,981.00		\$173,439.28		\$227,817.30		\$263,253.88		\$389,225.41		\$513,040.35		\$731,957.14